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147 | (I EE 42 36 78 10.0 68.0 EAHY

2 AL | EAR EFE] 43 44 87 18.0 69.0 EAY

3 AL | FHH R 46 47 93 | 22.0 71.0 | EHY

4 Nr | A PSR 38 39 77 4.0 73.0 |EHY

5 . |5 IEAN 44 40 84 11.0 73.0 |EAY

6 fir |F9H B 46 45 91 18.0 73.0 |HAEY

70| EET 48 48 96 23.0 73.0 |EAHY

8 /7 | JHH HF—AR 54 51 105 | 32.0 73.0

9 i [{AlA AT 44 44 88 14.0 74.0

10 fir | PR [FR 50 49 99 25.0 74.0

11 A7 | HAY %8 53 50 103 28.0 75.0

12 47 [ /N1 KA 44 39 83 7.0 76.0

13 7 |7 EA 44 44 88 12.0 76.0

14 {7 | Ly Fniz 45 44 89 13.0 76.0

15 7 |l sl 49 46 95 19.0 76. 0

16 fir |BRHE KIp 46 49 95 18.0 77.0

17 7 | ik BT 52 51 103 26.0 77.0

18 {7 | iy =EF SEH 56 55 111 34.0 77.0

19 {7 | K —R 43 49 92 14.0 78.0

20 {7 | 5K Fe= 51 45 96 18.0 78.0

21 7 | B 18 52 50 102 24.0 78.0

22 {7 |B8% HEH%E 57 47 104 26. 0 78.0

23 L | f& s F53C 53 54 107 29.0 78.0

24 7 | FH FHEE 44 44 88 9.0 79.0

25 i |5 B 46 49 95 16.0 79.0

26 7 | JTAE AKIE 60 51 111 32.0 79.0

27 A | KR AT 50 46 96 16.0 80.0

28 AL | FEI Z2im 53 46 99 19.0 80.0

29 AL | &7 1E 47 48 95 14.0 81.0

30 fif | /IME s 50 51 101 20. 0 81.0

31 7 | Fnég RER 52 52 104 23.0 81.0

32 fir | N B 45 47 92 10.0 82.0

33 L | AKE SFN 50 47 97 15.0 82.0

34 i | Rt PRER 52 51 103 21.0 82.0

35 fir | oy 58 49 107 25.0 82.0

36 7 | P BT 54 56 110 28.0 82.0

37 L | AR % 49 50 99 16.0 83.0

38 fiL | KT 51 51 102 19.0 83.0

39 AL | JrlE] & 51 43 94 10. 0 84.0

40 7 |55 JE 53 44 97 13.0 84.0

41 for | g B 48 50 98 14.0 84.0

42 A | WAz 60 59 119 34. 0 85.0

43 AL | Rl —3C 50 48 98 12.0 86.0

44 AL | E KE 56 58 114 27.0 87.0

45 I | EJR F5—RR 50 52 102 14.0 88.0

46 N |58 — 55 55 110 22.0 88.0

47 A7 [/Nm R 65 59 124 36. 0 88.0

0 0

48 i | W 48 43 91 2. 89.
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49 {7 |$nAK == 54 53 107 17.0 90.0

50 fir | BN B+ 55 61 116 26.0 90. 0

51 i | BEA h 56 52 108 17.0 91.0

52 I | FH T 58 57 115 24. 0 91. 0

53 L |[fa T HE 55 56 111 19.0 92.0

54 L | BEA {5 = 58 56 114 22.0 92.0

55 i | PEAS B 3C 59 58 117 20.0 97.0

56 fif | Kl 73— | 61 54 115 16.0 99. 0

57 AL | HrH & 62 67 129 30.0 99.0




